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PAO4ESOCO2 - SOCIOLOGY: Industry and Society In India
Note :(1) Attempt all Questions. Total Marks: 70

2) Marks of each question are indicated opposite.

Q.1 Fill up the following blanks with appropriate option. (10)

(1)  Raymond Arow gave the definition of the Industrial society
in
(1961, 1981, 1991)

(2)  Modern Industry is an organized activity.
(Religious, Political, Economical)

(3)  Eleven characteristics features of formal organization are presented

as principles by
(Adonle, Contz, Henry Feyol)
4) Lobaur union popularizes difference.
(Caste, Class, Work)
(5) has shown thirteen conditions responsible for weak

Industry relations.
(R. S. Davar, Mayers, Miller)

6) can be avoided with participatory management.
(conflict, competition, co-operation)

(7)  Industrial Society is oriented Society.
(Capital, labour, machine)

(8)  Industrial relations is a dynamic and Complex Process.

(Chemical, production, social)
(9)  The Labour Union is an institution more oriented to

issues.
(Economical, political, social)
(10) The problem becomes severe due to
industrialization.

(Population, traffic, pollution)




Q.4
Q.5

Q.5

Explain Nature, types, characteristics and mechanisms
regulating Industrial relations.

OR
Explain Industrial conflict in Indian context.
Explain meaning, need, importance, leve!'s, and functions of
Industrial management.

OR
Define Labour Union. Explain in detail the Labour Union.
Define Participatory management. Explain in detail the
Participatory management.

OR ,
What is industrial pollution? Discuss its types, causes and
its remedies.
Give the definition of migration. Explain in detail the
labour migration.

OR
Write Short Note.
(1) Women and child laborer’s.
(2) Industrial Cities.

(15)

15)

(15)

(15)




63 LIkR BIRK LItR 5B

(RISPR ‘Q15YP ‘RRR)

"B PSRRIy 215 LERIRR eltoPR
C (¥BUr RRIR 2813 "Rie M)

'@ PR3 TR

BlolR15 £1 1IBRRR B1h1R 5ig1Blk ik ThRT

(W15 ‘rb ‘YB)

25 PIYYN 3w BR 213115
( PIRg 1P ‘€215 ‘BrIfR)

‘GRS R

FBP (PISR] 1Phlle SRIB bb (FH9ER Fikhlle je

(SR ‘R ‘?}g]lh)

‘6 bk | PR 5le 1B st

(225 ‘2221 ‘B3%)

PP (hie Thalte [FRIHER 5 1RIR PRI Stk Th RG
(01) “12h Thek (Pi $h 195 Y kelk

“® PPIB3 WIR PP Wi Thiw) ()

06 : W BF | “Thlie W01b% 11K Thio (b) :

R ® PRk

()

()

(v

(%)

(e)

()

(¥

LI

LY L




(BR3H APBBEMb ‘PPib)

"6 blo Aok 1RKR BR15 RSBl (Ob)

(SRR ‘RS2 ‘ShNe)

“§ MR Prk Witk PR hR 21315

(SRNHIR ‘LAWY ‘SRR

ALt BYR 1BE Kk Siz 1BbR SRl
(h ‘Wi ‘IFh)
“® HIMR MRk %IR SRl

(I5PR ‘Q1HYP ‘RhBR)

"B PSRRIy ER15 LHEBIRR YeltoPR
C (XBUr ‘RRIR 2813 "Rie R0k)
‘@ PR3 Moy

PlolR15 £1 1IBRRR B1hIR 5ig1Blk ik ThRT

(W5 “kb ‘Ye)

‘B8 PIYY 3w BR 213k1§
( PR RPP ‘€215 ‘BrISR)

QRS R

FRP 1MIBR] Phlie SHRID bb PR 5Yikhile te

(SRe ‘RFRR ‘S1YIn)

‘6 Wb ' PR 5tz 1B stk

(v22% 221 “B3M)

PP e Thatte 1R 5 1B1R PRI S0k Tk R
(ov) “1h Thef |Pit §h 1951 ke g

“® PP’ WIR PP Wk Thiw X (2)

06 : Wk B§ e olbk ks K Thto (b)

AL PR&E:

(?)

(2)

(®)

(3)

()

(%)

(€)

()

(¥

L3

L3 L




RPR FBle  (2)
"RIZHISNIL Bl 1B ('b)
b B1RE2

1bhie
(hy) BRRR Plel ke 2PI0TRR 1315 “Thile Thalko FrbibkR
REALIC
3 .
1R THIRRTBY] P bie 18215 ‘RISKIRP | R P2le Wh3k SRl
’ 1Bk

(hb) (hie YERR Piel le FBIRR clloPR “Thile Ihalts [REBIRR (el

“1hile YhRR Plel] [FBR 213015 *(hile Thalts R 213K15 -
bhie

(hb)  IPWRR (RIS e R TP ‘DR DIRRER ‘B (HEDIRR Sig1BTkR

BWHR Plel Thio3R B0 BRER 5Bk
okl
"1bWHR 1PIRF) hade 1121k
(hy) KERY 1P He RIPSRIRID ‘RISK hEW BihbR 5Bk




